Day 6 7.6 Solvingbd.notebook April 20, 2020

*;"l"o expand 7.6 Solve Exponential and
Logarithmic Equations
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2nd method of solving - If logs & bases are
equal then expressions are equal

Ex1

loga(x+2)= logs(3x-1)

April 20, 2020

( P Solve a logarithmic equation

Solve log; (4x — 7) = log; (x + 5).

log. (4x —7) = log, (x + 3}

4x—-T7=x+5

Write original equation.

Property of equality for logarith

3x—-7=5 Subtract x from each side.
3x=12 Add 7 to each side.
x=4 Divide each side by 3.
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Ex 3
Solve: log, (5x—1) =log,(x+7)

(5x-1)=(x+7)
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3rd method for solving
Rewrite from exp fo log or

dul‘“"g log to exp
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x=2
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Ex 2 Solve
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Ex 4
x r";‘) ¢
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What makes this hard...
Choosing which method to use
Ignore instructions in book homework

~—Condens2
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logz -2 =x
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)032 x(x-2)=3
(x*2%)=3

HW Pg 519, #3-42
Multiples of 3
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